
Esercizio Mattingly 9.35 

m 40 kg/s Cz2=Cz3  
 1000 rad/s M1 0.3 

Ro 0.4 m M2 1.15 

Tt1 1780 K  0 

pt1 1,400,000 Pa r 0.08 

Tt 230 K s 0.04 

R 287 J/kgK r 1 

cp 1243.6667   1.3 



 0.7607961  k 0.2308 
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𝑎𝑡1 = √γ𝑅𝑇𝑡1 = 1.3 ⋅ 287 ⋅ 1780 = 814.9𝑚/𝑠 

𝑎1 = √γ𝑅𝑇1 = 1.3 ⋅ 287 ⋅ 1756 = 809.5𝑚/𝑠 

𝐶1 = 𝑀1 ⋅ 𝑎1 = 0.3 ⋅ 809.5 = 242.8𝑚/𝑠 

𝐶𝜃1 = 𝐶1 ⋅ sin 𝛼1 = 0𝑚/𝑠        𝐶𝑧1 = 𝐶1 ⋅ cos 𝛼1 = 242.8𝑚/𝑠         
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𝑎𝑡2 = √γ𝑅𝑇𝑡2 = 1.3 ⋅ 287 ⋅ 1780 = 814.9𝑚/𝑠 

𝑎2 = √γ𝑅𝑇2 = 1.3 ⋅ 287 ⋅ 1485 = 744.4𝑚/𝑠 

𝐶2 = 𝑀2 ⋅ 𝑎2 = 1.15 ⋅ 744.4 = 856.1𝑚/𝑠 

Dall'equazione di Eulero: 
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 1 2 2R 3R 3 

Tt 1780 1780.0 1614.3 1614.3 1550.0 

T 1756.3 1485.3 1485.3 1460.9 1460.9 

pt 1,400,000 1,370,211 897,283 872,762 731,764 

p 1,320,966 625,488 625487.9 566,246 470.7 

M 0.3 1.1500 0.7609 0.8366 0.6375 

C/W 242.8 856.1 566.4 617.7 470.7 

W/Cz 242.8 470.7 470.7 470.7 470.7 

W/C 0.0 715.1 315.1 -400.0 0.0 

 0 56.65   0 


  33.80 -40.36  

 


